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The TPC-H Schema
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Exercice : Compare joins between tables with and without indexes ( time, and query plan)

Access paths :
https://docs.oracle.com/database/121/TGSQL/tgsql_optop.htm#TGSQL228
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CREATE TABLE P_LINEITEM
(
L_ORDERKEY NUMBER(*, 0) NOT NULL
, L_PARTKEY NUMBER(*, 0) NOT NULL
, L_SUPPKEY NUMBER(*, 0) NOT NULL
, L_LINENUMBER NUMBER(*, 0) NOT NULL
, L_LQUANTITY NUMBER(15, 2) NOT NULL
, L_LEXTENDEDPRICE NUMBER(15, 2) NOT NULL
, L_DISCOUNT NUMBER(15, 2) NOT NULL
, L TAXNUMBER(15, 2) NOT NULL
, L_RETURNFLAG CHAR(1 BYTE) NOT NULL
, L_LINESTATUS CHAR(1 BYTE) NOT NULL
, L_SHIPDATE DATE NOT NULL
, L_COMMITDATE DATE NOT NULL
, L_RECEIPTDATE DATE NOT NULL
, L_SHIPINSTRUCT CHAR(25 BYTE) NOT NULL
, L_SHIPMODE CHAR(10 BYTE) NOT NULL
, L_COMMENT VARCHAR2(44 BYTE) NOT NULL
, CONSTRAINT MYPK PRIMARY KEY
(
L_ORDERKEY
, L_PARTKEY
, L_SUPPKEY
)
)
PARTITION BY RANGE (L_QUANTITY)
(PARTITION part1 VALUES LESS THAN (10) TABLESPACE TBST,
PARTITION part2 VALUES LESS THAN (15) TABLESPACE TBS2,
PARTITION part3 VALUES LESS THAN (MAXVALUE) TABLESPACE TBS3)

insert into P_LINEITEM select * from LINEITEM

ALTER TABLE parts MOVE PARTITION depot2
TABLESPACE ts094 NOLOGGING COMPRESS;

ALTER DATABASE DATAFILE '/u01/app/oracle/oradata/DB11G/reclaim01.dbf' RESIZE 24M;
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CREATE TABLE table

(col1 type_donnéef,

col2 type_donnée2,

coln type_donnéen)

PARTITION BY HASH (col)
PARTITIONS n

[STORE IN (tbs_part1, ..., tbs_partn)];



Enable //:
ALTER SESSION [ENABLE | DISABLE | FORCE] PARALLEL {DML | DDL | n};

SELECT username, pdml_status, pddl_status, pg_status, pdml_enabled
FROM v$session

WHERE username IS NOT NULL;

USERNAME PDML_STA PDDL_STA PQ_STATU PDM

SYSTEM ENABLED ENABLED ENABLED YES

Hint (to force ) :

SELECT /*+PARALLEL(table,n)*/ col1, col2, ...
FROM table

WHERE . . .;

UPDATE /*+PARALLEL(table,n)*/ table

SET col1=val1, col2=val2, ...

WHERE . . .;

DELETE /*+PARALLEL(table,n)*/

FROM table

WHERE . . .;

Check :

SELECT *

FROM v$pg_sesstat

WHERE statistic LIKE '%Parallel%";
STATISTIC LAST_QUERY SESSION_TOTAL

Queries Parallelized 0 0
DML Parallelized 0 0
DDL Parallelized 1 1

1) enable // to your session

2) execute Select command

3) check your query plan and the statistics
4) Compare using hints to force more //



INSERT /*+PARALLEL (emp_part_plages_parallel,3)*/
INTO emp_part_plages_parallel

SELECT /*+PARALLEL (e_client,3) */ no, nom, SYSDATE
FROM e_client;

15 ligne(s) créée(s).

SELECT *

FROM v$pq_sesstat

WHERE statistic LIKE '%Parallel%';

STATISTIC LAST_QUERY SESSION_TOTAL

Queries Parallelized 0 0
DML Parallelized 1 1
DDL Parallelized 0 1

Statistics

ANALYZE {TABLE table_name | INDEX index_name}
{COMPUTE | ESTIMATE | DELETE} STATISTICS [SAMPLE n {ROWS | PERCENT}];

Compute=whole values
DBA_TABLES et DBA_INDEXES

ANALYZE {TABLE table_name | INDEX index_name}
{COMPUTE | ESTIMATE | DELETE} STATISTICS [SAMPLE n {ROWS | PERCENT}]
FOR {COLUMNS col SIZE h1 [col SIZE h2]| ALL INDEXED COLUMNS SIZE h3}

Update statistics of LINEITEM
Update statistics of an INDEX
Check them

Compare execution plan with and without ( deleted ) statistics on a table
and indexes
check the table stats before and after a query.



Use plan Baseline to setup Query plans

DECLARE
tune_sql CLOB;

tune_task VARCHAR2(30);

BEGIN

tune_sq := 'select |_orderkey from dbt3.p_lineitem’;

tune_tasl DBMS_SQLTUNE.CREATE_TUNING_TASK(

sql_text

=> tune_sql

Juser_name => 'DBT3"

Jscope https://docs.oracle.com/database/121/TGSQL/tgsgl_ spm.htm#TGSQL94621

P
=>'COMPREHENSIVE'
time_limit => 60
task_name => TUNE1"
description => 'Calling SQL Tuning Advisor for one statement'

END;

exec dbms_sqltune.execute_tuning_task(task_name=>TUNE1");

~3:
set long 10000

set longchunksize 10000

set lines 132

set pages 200

select dbms_sgltune.report_tuning_task(TUNET') from dual;

~4: delete the plan
~a:choose :

select name, type, status, sq_text from dba_sql_profiles;

~b:delete:

exec dbms_sqtune.drop_sql_profile(SYS_SQLPROF_016d72b5d1470000);

~4':drop atask
begin
DBMS_SQLTUNE.DROP_TUNING_TASK('TUNE1");
end;

~3': do what the optimiser says :
begin
dbms_stats gather_table_stats(ownname => 'DBT3, tabname =>
'P_LINEITEM!, estimate_percent => DBMS_STATS.AUTO_SAMPLE_SIZE,
method_opt => FOR ALL COLUMNS SIZE AUTO), cascade => TRUE);
end;

5 : plan baseline exist ?
set pages 100 linesize 150
col sql_handle form a20
col plan_name form a30
col sql_text form ad0

col created form a20

SELECT sql_handle, plan_name, enabled
Jaccepted, created, optimizer_cost, sql_text
FROM dba_sql_plan_baselines;

61 create a baseline :
- a: execute the query :
select |_orderkey from dbt3.p_lineitem;
~b:find the id :
select sq_id, plan_hash_value, sql_text
from vésal
where sql_text like 'select |_orderkey from dbt3.p_lineitem’
and sq_text not like ‘%v$sal’;
~ ¢ load the plan :
DECLARE
plan1 PLS_INTEGER;
BEGIN
plan1 := DBMS_SPM.LOAD_PLANS_FROM_CURSOR_CACHE(sql_id => '0j33fc04s4gn7");
END;
~ d: display baselines
select sql_handle, plan_name, sq_text from dba_sql_plan_baselines;
— e check f query uses the plan baseline : (no rows mean no execution with the plan ) :
select sq_id, child_number, sql_plan_baseline, sql_text from v$sql
where sql_plan_baseline is not null
and sq_text like 'select |_orderkey%’;



https://docs.oracle.com/database/121/TGSQL/tgsql_spm.htm#TGSQL94621
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-- Création d'un index (Obligatoire)
CREATE INDEX cl_1_ind ON CLUSTER cl_1;

CREATE CLUSTER cl_1
(dept_no number(3));

-- Création des tables en cluster
CREATE TABLE salarie

(no NUMBER(4) NOT NULL,
nom VARCHAR2(10) NOT NULL,
emploi VARCHAR2(12),

dept_no NUMBER(3))

CLUSTER cl_1 (dept_no);
CREATE TABLE departement
(no NUMBER(3) NOT NULL,
nom VARCHAR2(14) NOT NULL,
localite VARCHAR2(13))
CLUSTER cI_1 (no);



